EARAROBEEIERT — 2 N— IBISH —F

2

012837308 (&) 20BIA#5H

PSR \XCELE B3— 7R

EZS

‘ [REBE] — | & (%) 1800 B

[AE<%] 1 7% :2,500,000  ~ 2 7&:750,000 F 3 & :500,000 4

4 7% 1300,000 F 5 3& : 200,000 M

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N o FikEL :52. 22— . — A= (k)
: 4| TLA RREY Y b o4 B 1(5_2)4 2-2-2-2 | 38.2 2 :3253; el
L:T7v3Io—L BAESTNTY-—> PR Ty ]
AR o5 | WIHRA 1:52.7 1-1-1-1 | 38.5| — 1 540 | SEILUBSIE (Vi)
2 10 RINE 2Ty 56.0 (1 1/2) (+4) | EEEEZ
RiYYRG4IF52 B:FXMEY R VDAY ¢
N EIHEER : -4-4- - TESRISHD (Z)\#E)
3|57 | FIANILR o6 5.0 1(75%:)7 s | B2 ! (5;5) 5%1_“?':.[;%
L:¥xrinqMno—- B:V54% iEbe]
“ S s o4 | A 1:53.6 7-6-6-5 |38.7| — 11 | 490 |=EER (KH)
a1 | PIYXIERY 56.0 (4) (-3) | EHEMEX
L:ZLYIT RV B ARV vILEE— iR F—
TJ—%H 4 6 | EEKRHE 1:53.7 12-12-14-12| 38.1 | — 5 483 | FEFAR (KH)
5 3 56.0 (3/4) -7 [IN):=E
L:xA4vay Kby B4 RKTL— E3a=Lve
X — 7 -10-9-8 | 38.7| — SAE (K3H)
6lgl1a| 7>N—brT R b - Ggy | 17108 BT N ‘22? &) uZ5y
RV RYZYRAIR B:HZ—F—=>7 BORMOS
: : B4 | EEET 1:54.0 3-3-3-4 [39.5| — 12 | 431 | {ERISHD (1)
717110l =V KLF L 54.0 ) ) HEXfE
L:d—IRAq1O— B:772 82wV LN IPS
A S t> 5 | BAfE— 1:54.3 11-11-5-6 | 39.4 | — 6 498 | KHEHZEHE (KH)
5| ¥2Y > FrI b 7| .0 (1 1/2) o) | (B) KEEE
R:T7TaT74r—714>9 B:xa¥ex I EF 4505
£ 4 5 | FHEEA 1:54.3 5-7-9-11 | 39.1| — 9 465 | EFER (KH)
Y > P NYThHLAF— 56.0 (7E) (o) | R
RiA—GNhT BKRYy T2tk T— AEHIS
0= = 53 :54. -9-12- . — ERER (KH)
13l 7V=NZF4T #H 5 o5 1(/?;)3 9-9-12-10 | 38.9 8 f52) e
L:77)—b B:a-k)—TL—7 KBS
4 5 | FlEEX 1:54.8 14-14-8-9 | 39.9 | — 3 495 | RITR (KH)
11068 9 OXEV/NMT 56.0 (21/2) +2) éﬂfff
LO—Y XA x4 By avhIET EvilLy RT7—L
Pl o S 44 | WHEEX 1:55.0 8-5-6-7 | 40.1| — 4 518 | ARELE ()
12N e | 7L N 56.0 (1 1/4) (o) | FIES
R:T7V1T745—FT4>9 B:17LxavF Eld=t e}
s s 4 | PHEE 1:55.3 5-8-11-13 | 40.0 | — 14 | 462 |FKEME (KIH)
13|5|8 | IAETAARY — 54.0 (1 3/4) Lo |EOEX
L:vA1xItEL I b BE—ITA4K) — wE ORER
o = 4 5 | HEAEE 1:55.6 13-13-13-14| 40.1 | — 10 | 521 | AR (KH#H)
14]7| 11| 7TRBR/F LTS 5.0 (1 1/2) Gy | ) &<EET4x
A:Grand Slam £ :Limbo Mr. & Mrs. John Kerber
® 1—F—@EBIERL
13—7+— 10,4,12,7,(2,8),1,6,13,14,5,3,11,9
2a=5F= 10,4,12,7,6,1,2,8,13,14,5,3,11,9
== 10,4,12,7,5,(1,6),9, (2,14) ,8,13,11,3
43—+ — 10,4,7,12,1,5,6,14,9,13,2,3,8,11
[ N5
B 4 340H 714K 4-10 320M e E 3-6 330M JEE 4-7-10 2,850
B B 4 160M 4-7 1,100H e B 3-6 820M 3EE 4-10-7 11,540H
10 140 7-10 830M B & 4-10 520M
7 330M B HE 4-10 1,420

ABICOVWTRDTEEERROODE. TR LIV,




